
Parts Breakdown
Model PH-CN-1500 31432



Parts Breakdown
Model PH-CN-1500 31432

Item No. Description Position Item No. Description Position Item No. Description Position

61302 Mesh for 31432 1 61309 Knob for 31432 8 61316 Terminal for 31432 15

61303 Reflector for 31432 2 61310 Left Bracket for 31432 9 61317 Wire Pole for 31432 16

61304 Halogen Lamp 21 3/4” for 31432 3 61311 PCB Box Base for 31432 10 61318 M12 Screw Pole for 31432 17

61305 Side Mesh for 31432 4 61312 PCB Box Top Cover for 31432 11 61319 Power Cord for 31432 18

61306 Lamp Clip for 31432 5 61313 Pull Off Switch for 31432 12 61320 Bracket for 31432 19

61307 Inner Side Board for 31432 6 61314 U Shape Bracket for 31432 13 61321 Remote Control for 31432 20

61308 Outer Side Board for 31432 7 61315 PCB Board for 31432 14 28648 Spanner M6, Nuts M6x10 and Screws 
M6x10 Set for 31432


